Explaining Differences in Infant Mortality Between Developed Countries

Question:  Why are there large disparities between highly developed countries in basic health indicators such as infant mortality?

Premise:  There is a minimum level of income that allows countries to achieve high scores in health indicators.  Countries below this income are unable to achieve high levels of health.  Once countries have surpassed this basic level of income, however, differences between national political ideology, together with social and health policies that flow from these differences, have large effects on population level health.  Countries with low infant mortality also have lower incidence of low birth weight.  Birth weight distributions are strongly controlled by interrelated factors  such as poverty, stress, and lack of social support.
Different political traditions:

Social Democratic: (Sweden 2.8, Finland 3.2, Norway 3.4, Denmark 4.4, and Austria 4.5)*
labor movements and socialist parties are strong

capitalist classes and their parties weaker, thus labor’s share of profits larger than most other countries
high union enrollments

high public employment in health services, education, and social programs (including family support)
high taxation
high hourly wages
low income inequality
child poverty and general poverty nearly nonexistent

high participation of women in the labor force

lowest infant mortality
Christian Democratic: (Belgium 4.4, Germany 4.1, Netherlands 4.8, France 4.1, Italy 4.8, Switzerland 4.4)

primary reliance on the family for the provision of social services to elderly, disabled, children
heavy reliance on male for salary and standard of living

labor movement weaker than in social democratic countries, but still relatively strong
wage disparities moderate

child poverty and general poverty intermediate
lower female participation in the labor force, worse female health than w/ soc. dem.
moderate infant mortality

Former Fascist Dictatorships of Southern Europe (Spain 3.7**, Greece 5.9, Portugal 5.0)
social spending lower than for Social Democratic and Christian Democratic countries

labor movements weak

fairly large income inequalities

high child poverty

moderate-high infant mortality

low female labor force participation

Anglo-Saxon Capitalist Countries (US 6.7, Canada 5.2, Ireland 5.1, Great Britain 5.3)

labor movements very weak

capitalist class very strong, capital share of profits large relative to labor’s share
market and corporate dominance of economic policies

social benefits available based on need, not simply citizenship or workers rights

hourly wages tend to be lower than with social democracies, often requiring women to be in labor force

income and wealth inequalities highest

highest child poverty and general poverty
high infant mortality

health and social services gen. more market oriented
*infant mortality rates follow country names (#deaths in first year per 1000 live births).  

**From 1982-2005, Spain had a social democratic form of government, with the exception of 1997-2004

Source: PRB 2004 World Population Data Sheet.
